3 (Sem-2) ZOO

2018

ZOOLOGY
( General )

( Ecology, Evolution and Adaptation )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Find out the correct answer of the following :
: 1x7=7

T FIPTR R Sa S SRt -

‘(@) Recapitulation theory was proposed by
Darwin / von Baer /. Haeckel.
TRRET T TREH / ©F (N / I
RO |

(b) Peripatus is connecting link between
Annelida and Arthropoda / Porifera
and Coelenterata / Mollusca and
Echmodermata
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(2)

(c) 10% law for energy transfer in food
chain was given by Lindeman / Stanley /
Weismann. :
RreceeH [ BT [ TS 0 RIS e
SRR 10% S sfearal IR |

(d) Minamata disease is due to lead /
mercury / sulphur dioxide.

W/W/WWWWW
@R |

(e) Morphologically similar but.
reproductively isolated population are
called deme / clone / sibling species.

TRRTFERE 771 R aEAfTeE 9 ST
SR / F [ IR S @ |

(f) First man-like creature was
Ramapithecus /  Dryopithecus /
Australopithecus.

IR / gier iR / SgerPReR 248
T S A6 SR |

(g9 The book, The Origin of Species was
written by Darwin / Lamarck / Aristotle.

The Origin of Species TR 2R3 TR /
@ ) afRB*oea FiRkfRe
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(3)

2. Discuss Lamarckian concept of evolution in
the light of modern Biology. 10

Y RIS 4R g SRRERy e
ST I |
Or / A3

What is the modern concept of origin of life?
Enumerate its essential features. 10

8 TR wfe mT R TR e
MBI 3 391 1 ’

3. What is pollutant? Write elaborately water
pollution and its influence’ on aquatic

animals. 2+4+4=10
AT T B2 & Al F T A T A
8IS (R *] o Raca IZais forn |

. Or / &
What is ecological succession? Describe its
type and general process. 3+7=10

MR ey Ifoeet B qE07 TR 2R SF TR

4. What are the basic pﬁnciples of adaptation?
Give an account of volant adaptation with
suitable example. 4+6=10

IR T fewr & 7 W SRR
R Torw Srrggepr Raae i |

8A/694 ( Turn Over )




(4)

Or / 71

What is food chain? Describe different types
of food chain with suitable examples. 2+8=10

M peE 2 ARE e e SoRe
TIP3 471

5. Write on the following (any four) : 2x4=8
were A e fort (R cpie wif361) :
fa) Greenhouse effect /| GiEE9 2 AR
(b) Biomass / R
(c) Intraspecific struggle / SBARIS FRA
(@  Aestivation / Srenfm
fe) Analogous organ / I&F =3
6. Write short notes on any three of the
following : ‘ 5x3=15
wers i R et fofibe o 3 Breet o
(@) Neo-Darwinism / SREZF “H-T&M
(b) Noise Pollution / X% 289
(0 Mimicry / SRl
(d) Cro-Magnon Man / & - T
(e) Cenozoic era / fsﬂ’ﬂ'@ st

* % &
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